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Eedk I)L DB EE

£ ouT IN GR HDCP NET e
47 48 95 22.8 72.2 |23y FI A% (3,000M)
44 44 88 15.6 12.4 |EHTL—5
40 45 85 12.0 73.0 |23y FIAZ (2,000M)
44 45 89 15.6 73.4 |> 3y HI A% (1,000M)
40 53 93 19.2 13.8 |EHTL—%
45 46 91 16.8 14.2
42 43 85 10. 8 14.2 |EHTL—%
42 42 84 9.6 14.4
48 42 90 15.6 74. 4
39 44 83 8.4 14.6 |EHTL—3
46 49 95 20.4 74. 6
47 42 89 14. 4 74.6
40 41 81 6.0 75.0
45 47 92 16.8 75.2
51 53 104 28.8 15.2 |EHTL—%
48 47 95 19.2 75.8
45 44 89 13.2 75.8 |EHTL—%
18 &k =& 42 47 89 13.2 75.8
19 |NE #E 47 40 87 10.8 76.2
2 EEEPEE: 46| 46| 92| 156 764 |mEIL—%
21 | ER M= 46 46 92 15.6 76.4
22 |BEK F7 48 50 98 21.6 76.4
23 | K& =®EE 50 53 103 26.4 76.6
24 |’ Xkl 43 47 90 13.2 76.8
= EEIE 18| 47| 95| 180 77.0 [mEHIL—%
26 |db|R =7 44 45 89 12.0 77.0
27 |HLE EF 47 52 99 21.6 71.4
28 |[EAK # 51 48 99 21.6 11.4
29 (lu@ =% 44 43 87 9.6 71.4
Elzs ne 50 | 48| 98| 204 77.6 |mETL—%
31 | RE 42 44 86 8.4 77.6
32 |#BAK  FIsh 50 53 103 25.2 77.8
33 R EBF 51 51 102 24.0 78.0
4 |EH FE 47 48 95 16. 8 78.2
E E 50 51 101 22.8 78.2 |EHTL—3
36 |t BfE 51 50 101 22.8 78.2
37 |EH F= 49 45 94 15.6 78.4
38 |&Ft —F 53 52 105 26.4 78.6
39 | KAR K= 57 54 | 111 32.4 78.6
s =x 50 | 47| 97| 18.0| 79.0 |mEIL—%
41 |#BX sk 49 54 1 103 24.0 79.0
42 1K1 ER 47 49 96 16. 8 79.2
43 |FH & 46 50 96 16.8 79.2
4 |hE W= 54 | 53| 107 | 27.6 | 79.4




45 EEREES 49 46 95 15.6 19.4 |EHTL—%
46 |/EA FxE 49 63 112 32.4 79.6
A7 |He EkE 49 51 100 20.4 79.6
48 |EE 5h 53 47 100 20.4 79.6
49 |srlh & 56 53 109 28.8 80. 2
50 IR 50 | 51| 101 | 20.4 | 806 |maTL—%
51 |EE RAI 57 56 113 32.4 80. 6
52 ;I A 60 53 113 32.4 80.6
3 |&HiE EER 53 52 105 24.0 81.0
54 IIBF HF 50 48 98 16.8 81.2
s =2 57| 53| 110 | 28.8 | 81.2 |meTiL—%
56 |fER ®E 56 51 113 31.2 81.8
57 |®iEm B 63 55 118 36.0 82.0
58 |{FE == 53 51 104 21.6 82.4
59 |k HE 53 57 110 26.4 83.6
s = 62 | 59| 121 | 36.0 | 850 |mETL—%
61 |FE BUA 62 52 114 28.8 85.2
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